IB Math PreHL









   Prerequisites Practice 2017
Students should be able to complete all of these problems prior to entering IB Math PreHL.  

There may be an assessment on similar material during the first week of school.

No Calculator!!
Determine what type(s) each number is (Complex, Imaginary, Integer, Irrational, Natural, Rational, Real).
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Write the equation of the line described or graphed.
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Solve each system of equations.
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Solve for 
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Simplify.
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Factor.
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Find the exact values of 
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Solve for the missing values 
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Find the following given 
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61.  distance 
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62.  midpoint of 
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Calculate the measures of central tendency for the following set of data:
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63.  mean


64.  median


65.  mode

69.  Find the area of the shaded region.

70.  Find the circumference of the circle given that 
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71.  In the diagram, B is a point of tangency.
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Find the radius r of 
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       Find the value of x.

73.Solve for x.  
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74. Solve for x.  
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75. Solve for x.  
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76. Solve for x.  
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